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Introduction to Computer Science

Exercise 3

1. Binary to integer

Calculate the value of the binary number

0 0000000 01010010
0 0000010 10000011

2. Integers to binary
Calculate the value (decimal system) of the decimal numbers

316
1035

3. Number Types

The input on the left produces the following output:

int a = 62352;

int b = 1142342;

int ¢ = a * b;

double d = 1.0 * a * b; a= 62352

print(a); b= 1142342

print(b);

print(c); c= -1787135648

print(d); d= 7.1227308384 E10
double e =1 - 9.9 - 0.1; e=  2.2351741790771484 E-8
print(e);

Explain the output.



4. JSON vs. XML
Given the following information:

Team Meeting: date: 2021.12.20, time: 09:15, location: Room 214, participants: Rolf, Kurt, Vera

Write this information first as a JSON document, then as an XML document.

5. Data Chaos

A colleague recently sent me a file with the offer for the company event. Unfortunately, he didn't
tell me what format the file has. When | opened it, it looked like this:
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When | asked, he provided me with a new document, this time a text file:

| *Storing_Data.txt - Notepad - . X
File Edit Format View Help
Was Wann Kosten pro Stck Anzahl Total A
Gemse Vorspeise CHF 15.35 12 CHF 184.22
K, se Ap,ro CHF 12.40 20 CHF 247.92
CHF 432.14
W

Obviously | had caught the wrong editor, so | opened it in another:

" - o X
File Edit Search View Encoding Language Segtings Tools Macro Run Plugins Window 2 X
[l Storing_Datatt  E3
was wann Kosten pro St¥ck Anzahl Total A
Gem?se Vorspeise CHF 15.35 12 CHF 184.22
KSse ApZro CHF 12.40 20 CHE 247.92
CHF 432.14
v

How can this problem be solved?



